oS T3 e A2z ABC ©f] thehe] sinC, cosC, tanC 9]
& ot

= . sinC =

= . cosC =

HE D tanC =

oo Otk Gl w

Zrztgo|n 2 metagtA Ao o) w0l Aol 3
=
=o]7} 3, "Wl o] 5, WHo] 4 o]BF sinC = g cosC = %,

o N

tanC = ;1 o]ct.




th& 18olA AC, CD, DB = 8t O o AL o, x+y o] gk
T-tefet,

G

’

>
> =g 10

x=CT=7,y=DB=3




RA19] Zo]7F 10 cm ¢l EH O] HFz] 0]
QA Y& FHol=?

® 6cm @ 6v2em
@ 7cm @ 8 cm
® 9cm

=°] h= V102 - 62 = §(cm) ©|Th.




@® (3-V3)m @ (3V3-3)m
@ (4V3+1)m @(3\/§+3)m

® (4V3-1)m

Ste] =olE h 2 otH

/CBH = 45° o]0 2 BH = h

(CAH = 30° 0|2 &

64+h:h=+v3:1, V3h=6+h

(V3-1)h=6
6

S h=
V3-1

=3(V3+1) =3V3+3(m)




5.

ohS 83 -2 AABC oA AC = 18
,BC =120]1, Yo|7} 54 A uf], /,C 9]
3712 (&, 90° < 2C < 180°)
S
D 95° @ 100° ® 120°

@ 135° «2)150°

1
3% x 12 % 18 X sin(180° — £C) = 54,

sin(180° - £C) = % =sin30°
mr2bA £C = 150° ©]t}.




FU]HI

Ho] Zo|7} 12cm Q1 ASHA

|

My rsh

@72 V3 cm? @ 73vV3cm?
® 743 cm? @ 753 cm?
® 76 V3 cm?

o] 22 W, AAFC 9] Ho]& F-5HH?

~&B

AC =122
Jatztgo|B g Yol

? x (122)? = 72V3( cm?)

AAFC = 3F WO o7} 1242 9l




thS 189 AABC oA L/ACB = 135°, AC = 7em ©]th. AB

Zolg Fatofat,

\VARR 4
0x
L

72 cm

~&B

(ACH = 180°-135° =45°
CH
cos45° = —

_ 3 3
CH = 7cosd5° = 7 x ‘/7_ _ V2 ()

ﬁ:C_H:%g (cm)

sin 30° =

. AB=




1
AABC = = X 16 x 16 x sin(180° — 75° X 2)
1
2>< 6 X 6><2 6




9. o2 1A sinx o F2?

S)
ol w

4
Ok ®

] w

B

AEDC ™ ABAC(AA E5) 0|22
(DEC = /ABC ©]|t}.

webA] sinx = S = ¢ ol

&l




10. th 2914 DABCD o MK 9 0 9] Sel9] 10| Fafolet.

A r/_.14cm_\\‘ D
0
B 7cm”c
= cm

\VARR 4
0
AL

b

03

B :

A E-& remzt SHA
(14-r+7-r2=17%+(2r)?

(21 — 2r)% = 49 + 42

441 — 84r + 4r? = 49 + 4r?84r = 392
302 14

=% - 3
= 14 28
(¥o] E2) =27 % o gﬂ(cm)
_-14cm -
Age—— =D
N T7ecm- v SN
14\—( Q:ro(?\
N




